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QUESTION 1

An administrator wants to make sure that time remaining on work items in a plan view are consistent with
the estimate.

Which plan check ensures this?

A. Invalid Estimate Check

B. Planning Problems Check

C. Traditional Planning Check

D. Cross-Project Planning Problems Check

Correct Answer: B

QUESTION 2

An RTC administrator has installed JTS and CCM using a departmental server topology and completed
the Jazz Team Server and Application Setup process.

How many Public URIs (context root) exist for this topology?

A. Zero

B. 1 for JTS

C. 1 for CCM

D. 1 for JTS and 1 for CCM

Correct Answer: C

QUESTION 3

A user has a project with many build definitions and wants them to be easy to find. How can these be organized?
A. Create tags and apply to appropriate build definitions.

B. Create labels and apply to appropriate build definitions.

C. Create folders and move appropriate build definitions into the folders.

D. Create collections and add appropriate build definitions into the collections.

Correct Answer: B
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QUESTION 4

A development team is using the RTC web interface to update plans and work items. One user notices
that recent work item changes are not rendered in the web browser.

What is the reason for this?

A. The web browser is caching the work items.

B. The data warehouse has not yet been updated.

C. The web browser version is no longer supported.

D. User does not have permission to view the work item.

Correct Answer: A

QUESTION 5

A project manager determines the current iteration is complete and decides that the next iteration should
be started.

How is this done?

A. Set the current iteration\\'s status to complete.

B. Set the next iteration as the current iteration.

C. Specify that a release is scheduled with the next iteration

D. The start and end dates will automatically start the next iteration.

Correct Answer: B
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